


• Eight friends A, B, C, D, E, F, G and H are sitting around a circular table 

facing each other for a lunch. A is opposite F and third to the right of B. G is 

between F and D.H is to the left of D. E is between C and A. Who is sitting 

third to the right of C?

• आठ मित्र A, B, C, D, E, F, G और H लंच के मलए एक दसूरे के सािने एक गोलाकार िेज के 

चारों ओर बैठे हैं। A, F के मिपरीत ह ैऔर B के दायें से तीसरा ह।ै G, F और D के बीच िें ह।ै H, 

D के बायें ह।ै E, C और A के बीच िें ह।ै C के दायें से तीसरे स्थान पर क न बैठा ह?ै

A.C

B. H

C. G

D.B



• Six persons A, B, C, D, E & F are standing in a circle. B is between D & C. A 

is between E & C. F is at the right of D. Who is between A & F?

• छह व्यमि A, B, C, D, E और F एक घरेे िें खडे हैं। B, D और C के बीच िें ह।ै A, E और C 

के बीच िें ह।ै F, D के दायें ह।ै A और F के बीच िें क न ह?ै

A.C

B. D

C. E

D.None of these



• P, Q, R, S, T, U, V and W are sitting round the circle and are facing the centre: 

P is second to the right of T who is the neighbour of R and V. S is not the 

neighbour of P. V is the neighbour of U. Q is not between S and W. W is not 

between U and S. U is the right of S. Who is sitting adjacent to V?

• P, Q, R, S, T, U, V और W ितृ्त के चारों ओर बैठे हैं और कें द्र की ओर उन्िखु हैं: P, T के दायें 

से दसूरे स्थान पर ह ैजो R और V का पडोसी ह।ै S, P का पडोसी नहीं ह ै.V, U का पडोसी ह।ै Q, 

S और W के बीच िें नहीं ह।ै W, U और S के बीच िें नहीं ह।ै U, S के दायें ह।ै V के मनकट क न 

बैठा ह?ै
A.W,P

B. T,P

C. U,R

D.U,T



• M, P, J, B, R, T and F are sitting around a circle facing the centre. B is third to 

the left of J who is second to the left of M. P is third to the left of B and second 

to the right of R. T is not an immediate neighbor of M. Who is fourth to the 

right of M?

• M, P, J, B, R, T और F केन्द्र की ओर िुुँह मकए एक ितृ्त के मगदद बैठे हैं। B, J के बाएुँ तीसरा ह ै

जो, M के बाएुँ दसूरा ह।ै P, B के बाएुँ तीसरा और R के दाएुँ दसूरा ह।ै T, M का मनकटति पडोसी 

नहीं ह।ै M के दाएुँ च था क न ह?ै

A.B

B. T

C. J

D.R



• P, Q, R, S, T, V, Wand Z are sitting around a circle facing the centre. T is 

second to the right of R who is third to the right of P. S is second to the left of P 

and fourth to the right of Q. Z is third to the right of V who is not an immediate 

neighbour of P.

• P, Q, R, S, T, V, W और Z कें द्र के सािने एक चक्र के चारों ओर बैठे हैं। T, R के दाए ंसे दसूरे 

स्थान पर ह,ै जो P के दायें से तीसरे स्थान पर ह,ै S, P के बायें से दसूरा ह ैऔर Q के दायें से च था

ह।ै Z, V के दायें से तीसरा ह,ै जो P का तत्काल पडोसी नहीं ह।ै

• Who is to the immediate left of T? 

• T के तत्काल बाएं क न है

A. Q

B. W

C. R

D.None of these



• 6 girls are standing in a circle facing the centre. Bindu is to the left of Viji. 

Rekha is in the middle of Bindu and Mumtaz. Jessa is between Viji and 

Nirmala. Who is on the left of Mumtaz?

• 6 लडमकयां कें द्र की ओर िुंह करके एक घरेे िें खडी हैं। मबंद,ू मिजी के बायीं ओर ह।ै रेखा मबंद ुऔर 

ििुताज के बीच िें ह।ै जेसा मिजी और मनिदला के बीच ह।ै ििुताज के बायें क न ह?ै

A.Rekha

B. Nirmla

C. Viji

D.Bindu



• P, Q, R, S, T, U, Vand Ware sitting around a circle facing at the centre. T is 

second to the left of P and third to the right of V. S is second to the right of W 

who is to immediate right of T. Q is third of the right of U.

• P, Q, R, S, T, U, V और W कें द्र िें एक सकद ल के चारों ओर बैठे हैं। T, P के बाए ंसे दसूरा ह ै

और V के दायें से तीसरा ह ै.S, W के दायें से दसूरा ह,ै जो T के एकदि दायें ह।ै Q, U के दायें का 

तीसरा ह।ै



• Eight persons A, B, C, D, E, F, G, and H are sitting around a circular table but 

do not needs to be sitting in the same arrangement. Five of them are facing 

inner while others are facing outward. E is third to the right of C. F sits third to 

the left of E. Three persons sit between F and B. G sits third to the right of F 

who is not facing the center. D sits third to the right of A, who is not facing the 

center.

• आठ व्यमि A, B, C, D, E, F, G और H एक ितृ्ताकार िेज के चारों ओर बैठे हैं, लेमकन सिान 

व्यिस्था िें बैठने की आिश्यकता नहीं ह।ै उनिें से पांच का िखु अंदर की ओर ह ैजबमक अन्य का 

िखु बाहर की ओर ह।ै E, C के दायें से तीसरे स्थान पर ह।ै F, E के बायें से तीसरे स्थान पर बैठा ह।ै 

F और B के बीच तीन व्यमि बैठे हैं। G, F के दायें से तीसरे स्थान पर बैठा ह,ै मजसका िखु कें द्र की

ओर नहीं ह।ै D, A के दायें से तीसरे स्थान पर बैठा ह,ै मजसका िखु कें द्र की ओर नहीं ह।ै




